I. Степени свободы.
W=3n-2p1-p2
n=3
p1=3

p2​=0

W=3*3-2*3=3

II. Векторы и матричные соотношения.
φ21=900

φ10=900

S32=25 мм
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III. Центр масс.
m1=q*L1
m2=q*L2

m3=q*L3

m0=q*L0

m=q*(L0+ L1+ L2+ L3)
Xs=∑ Xk* mk/m
Ys=∑ Yk* mk/m
X0=0

X1=XA+AS1*Cos (φ10)=30*0=0
X2=XB+BS2*Cos (φ10+ φ21)= AB*Cos (φ10) +BS2*Cos (φ10+ φ21)= 60*0+35*(-1)=-35
X3=XE+ES3*Cos (φ10+ φ21+90)= -70+15*0=-70
Xs=(1/q(50+60+70+30))*q(0*50+0*60-35*70-70*30)=-21.67
Y0=OS0=25
Y1=YA+AS1*Sin (φ10)=50+30=80
Y2=YB+BS2* Sin (φ10+ φ21)= AB* Sin (φ10) +BS2* Sin (φ10+ φ21)= 60*1+35*0=60
Y3=YE+ES3* Sin (φ10+ φ21+90)= 105+15*1=120
Ys=(1/q(50+60+70+30))*q(25*50+80*60+60*70+120*30)=65.95
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-21.67
Rцм=
65.95
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